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PO NOT OPEN THIS BOOKLET _UNTIL YOU ARE ASKED TO DO SO.

QUESTION BOOKLET
Time allotted : 1 hour

Full marks : 100

All questions carry equal marks.

AIRTRTRN

Question ®aoklet Serial No.

INSTRUCTIONS

- This booklet consists of 24 pages including this

front page. Verify the page numb
Questicm Booklet on ﬂacl?pgaga. If th:e ?sf a[:;
d1s:;n_epancy, bring it to the notice of the
Invigilator. This Booklet contains questions in
2 languages: Bengali and Nepali.
. Answers will have to be given in the special
answer sheet (OMR Answer Sheet) supplied for
the purpose, which consists of two pages. Do not

tear or separate any leaf of the OMR Answer
Sheet.

. _Befure you proceed to mark on the Answer Sheet
I T€sponse to various items in the Question
Booklet, you have to fill in some particulars in
the OMR Sheet. Y oumust also write the Question
Booklet No. on the Attendance Sheet. Do not
fold the Answer Sheet as this will result in
error in your marks.

. All questions have four probable answers (A),
(B), (C) and (D). Find out which of the four
answers appears to you to be correct or the best.
Now darken the circle corresponding to the letter
of the selected answer in the OMR Answer Sheet
with Black Ball Point Pen as per instructions
sent along with the Admit Card and the OMR
Sheet.

. If more than one circle is encoded for a particular
answer, it will be treated as wrong answer.

. Vith of the allotted marks (i.e. 0.25) will be
deducted for each wrong answer.

. There are blank pages at the begining and end of
this booklet for Rough Work.

. The OMR Answer Sheet (both pages intact)
should be handed over to the Invigilator before
leaving the Examination Hall. Candidates are
then permitted to leave the hall with the
Question Booklet. The special answer sheet
(OMR) is the property of the West Bengal
Police Recruitment Board and must be
returned to the Invigilator.
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1. ‘arore fiFmm s 6 RANeRR afefimy
A — afd Joea (m ~fe@ e
A) YN
(@)
(D) fad
e forrent & T ferdia wfefin g, o
=gz FA T w2
(A) 79"
(B) @&
(C) =t
(D) Eral
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2. ABA @1 =¥ MEDITERRANEAN
wufoq a@l toR T A@AL |
(A) DINNER
(B) MEDIATE
(C)_READER

D) JARRANGE

%1 Y= MEDITERRANEAN %= 210
T3] Hihed?
(A) DINNER
(B) MEDIATE
(C) READER
(D) ARRANGE

3. SRS AR Tie T o7 WY
ﬁ.w.w
By/Hfee wezzee FzE
- (C) IFeHIE foere
(D) 7Wia WSS AHA
FIT YREE dfaure foa @ifs?
(A) o ot. M, IraASH
(B) aTELETel H6®
(C) wremmmeR faes
(D) HER decTHT 9

RB/LC/WBPFP(Prelim)/20.23

4. D oAfFaNE 6 G TTA 51G (average) T4
25 T3 | SRR W4 FIY TR I 5 I8 | OfA

GG ANY A B TE IS 2T 2 |
8

(A) 24 i

(C) 26

(D) 30

& i@ 6 e #Iad (average) I

25 34 B | T W FS) TEeh IS o B 1 IR
S E) THIT GeEeES 3Ta (average) 94 Hid
fergn?

(A) 24

(B) 28

(C) 26

(D) 30

5. (@A ATHSE ST 524 WA ‘Leaf is
green’, 351 H ‘Green and blue’ €33 438 WA
‘Sky is blue’ SIZ[F ‘Leaf’ @ ‘is’ (¥ QERASIEIE)
e A Sy LA s “q“if@‘"—

(A) 24 ’ :
(B) 2932 1 E‘S{. [fi',‘!tffrﬂ.mqrtg Lnlnf___

© 4aws 178 Sky 19 oite,
(D) 2 @32 8 LQRF“Q—
5

1 FrETa W At 52314#: ‘Leaf is
green’, 351 WA ‘Green and blue’ 31 438 w3
‘Sky is blue” B W ‘Leaf 31y ‘is’ T =
WeRiToa Tif?

(A) 2 3tfi 4

(B) 2 & 1

(C) 4 :1f7 8

(D) 2 1f7 8
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6. CIHA >BARG 19 @l SIHE(E T 2 ¢ 9. fgz wirA gl e @5 10 fapfa /91 |
(A) Grgres e ST (downstream) (TR 10 9B 150
(B) wiEbre=iga ofis wary Wi | @S A6 (upstream)

. !I?IQ G mﬂfﬂiﬁ”aﬁ &E O] AW A5 ¢
) ARTATCE (a) 30
. (B) 24
HeTH1 F9 YA e YeerEe = uie? (©) 28
(A) B=rm D) 20
(B) rwfzm
(C) wmEEm Frorz qrften A3 0 10 km/hr B | SETELE
(D) A (downstream) T AT3& 10 5027 150 km 1 G0 74
Tl | ST (upstream) T9 IS FHA T4 TN
T Ffa o Fre?
(A) 30
(B) 24
(C) 28

7. 7 8 7 e

6| 90 |4 5[149 |2 10[ ? |9

3 9 6 10. 1—%-%%_%:?

AT FIH B PIA? -
oA fae T % 597 T
(A) 378 9
(B) 368 (B) ¥
(C) 210 1
(D) 388 (©) 16.
.
(D) 16

11. Ta e Tafbre J esaam Sonagei

(90° (IS faae o e
— 2 2= =7
8. a+2b=5,a*+4b* = 13T ab lc-t

(:): oto 87 21 (4 Tewa
o (C) 21 1 ferr=

) 12
(D) 21 ¢ &=
e feruam % femm i yuea T meft e

a+2b=5,a"+4b =13 (then)ab=? | WX (90°) forwr f?

(A) 2 (A) 21st =T
(B) 7 (B) 21st AHHF
(C) 11 (C) 21st fedman

(D) 3 (D) 21st 91



12. &% I3 @ew ez AR INTW 10% @
20% AT G (=13 A7 10% (TS 9,900 Bt == |
O 7 o = bl fom e

(A) 10,500

12,500
(C) 15,200
(D) 11,500

T S 7o 10% T 20% TR 38 9o

sz | H=HE 10% T8 Rs. 9,900 T4 | 7 =iy

o™ Hia w94 8?2
(A) 10,500
(B) 12,500
(C) 15,200
(D) 11,500

13. FEGE TR0 S m @ 794 e
saReiRit Wy Rerem w1, ot i i e
Tafes ¢

(A) 1905
1907
(C) 1908
(D) 1906
FiEH g Afudem et 1 g
favrem % wrem e faar?
(A) 1905
(B) 1907
(C) 1908
(D) 1906

14. mmﬁﬂﬁ g
£ i
AT

V'

e X

(D) H

e U I TSR :
GCGLRY,?

(A) K

(B) G

€ X

(D) H
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15, w=#red (Simplification) Wi fA<f 3 2
b+c " c+a + a+b
(a-b)c-a) (a-b)b-c) (c-a)b-c)

(A) 1
(B) 2
(C) -1

5
geetts T4 8 (Simplification) :

btc ,_c+a a+b
(a-b)c-a) (a-b)b-c) (c-a)b-c)

(A) 1

(B) 2

(C) -1

(D) 0

16. A,chw}l :%:%‘ﬂi’fm‘{ﬂm
fafarast a2 Ia912 i@ 11,700 51 7S 3307, B

TS DI AN ? 1A
(A) 2700 Q&Q:%_ (i3
(B) 5400 - o O T
K2 AqhicitA

Ve
3600

A, BICH s dftemé | - 1 - 1 sy
SHFEEH T TR AHE Rs. 11,700 94| B w1
e Ha w4t ww gve?

(A) 2700

(B) 5400

(C) 3000
(D) 3600

17, 873x873x873+427x427x427

\/:? x873-873x427+427x427 ="
) 13

(B) 11
©) 1327
(D) 12
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18. 3afe afuera p-gz dfitee win avfa
RfaEa 1399 3 @b e
(A)
S
OT
(D) R
it Sofuren P i =l o <9 9ol e
tfa Tfed o & v 9o g A
(A) Q
(B) S
((G)
(D) R

19. ifsitea fadm 1% e e e
(A) 1526
(B) 1564
(C) 1761
1556

rR 26 7 e e for?
(A) 1526
(B) 1564
(C) 1761
(D) 1556

20. 10 srF weat 710 2fZa &7E 8 75 F1E I
60 fit = wfil ora Fare #ifea 1 250 i ¢ 14B wZa
@72 12 9561 3G F(A OIF 9 @9 I1G IS A F409
AT

(A) 100 '3 — %

(B) 85 ‘5,/.2.’ i
\Jor e i\

(D) 90 |

10T & 7 e g sva w60 faam

Sifir <ig g% 1 3fE 25 T X 14 fie 2 12 soa
= T4 3, TE FEH 9 T [0 H Ff7 o wme?

(A) 100
(B) 85
(C) 80
(D) 90

21. @1 Azl SrRTe (@ AE SAFS
(B) wgj&0m™

(C) vy

(D) &%

FI YR WA 4 TIH B

(A) ToEH

(B) WeAweH

(C) werg

(D) 5@

22. 324 x 150 = 54, 251 x 402 = 48 9N

523 x 246 = 120 T 735 x 866 = ? ¥,
(A) 200 7
(B) 180

©
300

324 x 150 = 54, 251 x 402 = 48 ¥

523 %246 =120 TN A 97 735 x 866 ="

(A) 200
(B) 180
(C) 320
(D) 300

23. ¥ AE < “fFwm U 78 A

sifde T e

(A) 1947

1971
(C) 1990
(D) 1962

F Fem 14 v e @aen aen

T3 YT 7

(A) 1947
(B) 1971
(C) 1990
(D) 1962
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(A) A

(B) C O

(C) D

(D) B

26. WFTE (Breathing Root) A4 @ Sfem
CR41 1 1 e

(A) 3

(B) (sre
y/wﬁw

(D) 7=

fe o 37 me/eTeR W R T

(Breathing Root) #2417

(A) g=lt

(B) T

(C) T Tty

(D) T
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27. #caa face wifern w299, ¢ A T wae
P (I SR ) AW TN T
(A) '
(B egre! o2
C) =
(D) WS ©f%
e B e W= S B e i
g TR T W R
(A) I
(B) *E® B
(C) =\
(D) HHETE S

28. ~@as| afremc Moy o ¢
AL, CO, ER, GU, ?
(A) JY
(B) 1Y
(C)
) IX

mﬁ'ﬂ'ﬂf'ﬁhﬁﬁw:
AL, CO, ER, GUJ, ?

(A) JY

(B) 1Y

(C) IX

(D) IX

29, (W %0 Fsfy aww ¢
(A) =ifim oz
(C) Greaws
(D) Fza=

THER ¥R T e
(A) SHfH e

(B) wH

(C) ZEnmm

(D) s



RB/LC/WBP(Prelim)/2023

30. wifire AfEEl (@ TR SRES 2
(A) <
(B) Tw wiwfaa
(D) =g
ufees TaTE T e Sufed 7
(A) e
(B) I i
(C) =ftgm smafta
(D) 3=

31. 13435223341567462325725
679 |
Toraa afifbre seofE Hedn S I S
e o faSL e 5 172! el qfbw (e T 2
) 3
(B) 5
(€) 6
(D) 4

13435223341567462325725
679

e dEm mmdﬂ?m
i ¥ S @ 13 e derm 4§17

(A) 3

(B) 5

(C) 6

(D) 4

(8)

32. BI9 ATASE TA 3794 A AT 32 B
ST e 9172 S 9 SRR R AP WO
SRk

(A) @fAre (Solidification)

(B) QeAIG3w (Vaporization)

(C) ¥ared+ (Condensation)

M:ﬁmﬁ (Regelation)

Y (Pressure) fEUaEFo =4 (Pressure)
T2 S T 3 AT G | 9 ST F
ufs?

(A) Feffewiaad (Solidification)

(B) WWRIESEA (Vaporization)

(C) $178785 (Condensation)

(D) TiterdA (Regelation)

33. @AW At o T ¢
J AR MY

4

At FE Ul TIEIe
2,7,13,23,34,47

(A) 13

(B) 34

(C) 47

(D) 23

34, @ B a3 e ghtme Targae ¢
(A) FA
(B) fwarz
(C) g
g
foq WEA & RO AICE Ve |fe?
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A,@Bmmwﬁwﬁmm@?
(A) 10
(B) 15
©)
o 12

Aﬁ@ﬂZﬂmTﬁmlsﬁqmq@
ﬁamzﬁm‘naﬁkmaﬁzz%ﬁmwnﬁ,
afz Axnﬁmﬁmmmmmw
el

(A) 10

(B) 15

(C) 18

(D) 12

36. e AT e TR Tz !
ﬂmﬂiﬁﬁ

(B) ooz

(C) 15

(D) TGRmE

Form e T e S T e H 87
(A) TR

(B) femme

(C) fye

(D) fegfra
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37. 2 FA AT A @ Heras i g
0T (S (@ ol (2 S 2 ¢

(A) -
(pf” fafam

(C) =Tt

(D) fm

F Ao ae et S fagares
VAT T B2

(A) wnframn

(B) =fafaan

(C) =i

(D) &

\//w@aﬂfaﬁmwvﬂqw

aaaaaab

]hhabaa = .b ot
(B) bbaabb e b i

(C) aabbab O — AT, O
(D) bbabba

e e weh ard sy -
aa_aaa_aa_a_aa_a_ b

(A) bbabaa

(B) bbaabb

(C) aabbab

(D) bbabba
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< I s, > i farmer, 2 W ‘e
9. JTEw ion) CPR ? 41, ‘< T Q@ > WA
3 e 32 ‘=" WA i T 2<4>3232=8=2+#3>4<2
713 31 63
816" 20" 80 93 T T
1 (A) -22
K - 14
31 ©) 14
(B) —
40 (D) 22
(C) o ‘< A AfR/gY B, > HM HedEEy
80 m:‘fmﬁw,*fqﬁm,maﬂﬁ
(D) L 2<4>3#32=8=2+3>4<2 T *fd &?
10 (A} =25
T WA 5 T =) el 349 (fraction) &7 (B) - 14
(C) 14
7 13 31 63
8'16° 40’ 80 (D) 22
7
A il
(A) 3
31
(B) %0
63
C ek
(C) o
13
D g
(D) 16

42. 5 3% i A & B-99 TWOR SIS (ratio)
&1 6.1 7 @ S T oA oo o e 2@
8:91 A-93 TN T T 927 7

(A) 30
40, CATAR *rera =g e (B) 40
(A) Gefe ©
By sl 35
(©) e 5 7 7 A TBH TR 39 (ratio) 6 - 7
(D) A= ford 15 3 T SHieeeh o ST 8 : 9 gm 1A F
yrar v a1 F A2 afeet I Hfd 37
(A) FFfa (A) 30
(B) WHTAHA (B) 40
(©) qifed () 23

(D) =i (D) 35
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43. 8a° - (pb) = (2a - 3p) (4a’ + 6ab + gp2
gEp="

(A) 2

(B) 4

(C) 5

NI

8a’ — (pb)’ = (2a - 3b) (442 + 6ab + 9p?)
¥7¥ (then) p = ?

(A) 2

(B) 4

<G 5

(D) 3

)

44. 2*4*9 = 41681, 3*5%7 = 92549 @z
8%5%6 = 642536 A 9*7*3 =9
(A) 71499
81449
(C) 71449
(D) 81499
2%4*%9 = 41681, 3*5*7 = 02549 3
8*5%6 = 642536 HI B ¥ 9%7%3 =7
(A) 71499
(B) 81449
(C) 71449
(D) 81499

45, Torefm (@i ArEEe FER Al B
(A) Trmea
(B) Jrr=ide
(©) pasg
RG]
e 5 T T T fo?
(A) TR
(B) F<w@rs
(C) sy
(D) #ER
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46, g s sl Sitse @ «refoa ez
i e
(A) G
(B) frea

(D) S

famm SATETH 58 W] 1 T $A g7
(A) eTH

B) fraet

(C) Tegfafm

(D) =

47. A € B-99 G (average) =¥ 3300 GiF | B
& -7 51% (average) S 3000 5151 49 A8 C-97
STG (average) W8 2700 Brl | foaataa 1C o7 F¢
TPt 2
(A) 2800
(B) 2900
(C) 2700
3000

A TB ¥ 39 (average) 3@ Rs. 3300,
B 1C#IRs. 3000 11 A TC =i 3i19d (average) 3
Rs. 2700 3| 9 S0 AET 13 Hia w94l 87

(A) 2800

(B) 2900

(C) 2700

(D) 3000

48. T3 @ G B’ (writ) 742
(A) @fRam s«
i e foifbuia
(C) e
(D) ST
e e 3w @’ (writ) B2
(A) TE139 Fiw
(B) T¥Iel &Y TE9H
(C) wifesimrd
(D) WemH
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49. 72 75 REE G 50 B @Rel 7 2
(A0 TR oy 92 T T TF I
BITr siferas! aAre 5 /<51 6 Ff/a0I =
3 951 TR, O T 7Y S [ T2

(A) 15
(B) 20
(&)

W 17

HEHeH1 FaR 3§ Arefies ST 7 S0 km
] Gl S T SPHiTeR i |3 foTeee! TTia e
5 km/hr 16 km/hr 913, 3 5021 Ufs foe® =14 Fid
km = g §18?

(A) 15

(B) 20

(©) 21

(D) 17

50. fe L AofEE FREn IRES
AFo?
(A) PNO,
(B) PSNO,
(C) SNO,
KNO,
e femm 3@ 99 T ORfEEE AR
T g
(A) PNO,
(B) PSNO,
(C) SNO,
(D) KNO,

(12)

51. <o 72 o RS TR 0 qoF ¥R 121
Sefa S 36 Al S AL 5F 7 T
Afaéa T | TR Fo?

(A) 62
\B"%
(C) 43
(D) 34

o st de st e 128 13T
T 36 59 T o S I T IR 1O
41 He i 82

(A) 62

(B) 26

(C) 43

(D) 34

52. (e Afells (@M 4y SrEEET T e o
(A) @
(B) @7
© coe
) or
B @t F7 9gH o ufag 82
(A) T
(B) ¥
(C) @l

(D) M
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53. P. Q 9 R 490 1301 o a9 p g g
e 2560 D11 @ 2000 B9 6% 2y R :
(@ | IETF (TR 1105 O e o7, P, 320 B

71 T B T R 370 Bt R 1ot ozt
4280 et

(B) 4820
(C) 4028

(D) 2840

P,Q ¥ R ¥ SR g 1 | P 1.Q & 3y
Rs. 2560 T Rs. 2000 T R\ aa) syeeqmy
RS.IIBSWWIP?IWWWW
Rs. 320 TR0 | R © Sfa w4t et may )

(A) 4280

(B) 4820

(C) 4028

(D) 2840

54. AR T @I Y (A T =47
(A) RO
(B) ==
(C) PRI
YBACTE
YRR THI 3 Tforar fres?
(A) fozgzt
(B) ¥emm
(C) TRUemy
(D) 9raEs

55. Srarsr @ @A A SAfEs qfv ¢ Ao
TG ?
(A) fafooE i
FEsigd foe
(C) cotstreTapas (oIt
(D) =&t #IEiefe A%
a3 A o e
(A) fafyreg ure
(B) arermeR fierh

(C) irrerspent et

(D) e e T

RB/LC/WBP(Prelim)/2023

56, faifAfHe « wnrafaet :  F0H - 7
(A) e
(B) 2erare
(C)
) izt
fafafadt . smafem & ?
(A) qfern
(B) Fd
(C) Mam
(D) 3=

57. ¢Toie erEsE @ FEERE @W Ze
TSRS O ?
(A) st
\_}B/?FE?F
(C) BIC™R
(D) Ferel
TSt gAY =% A s refetan e
Gice REC k)
(A) famren
(B) *&H
(C) YF¥R
(D) HieTeHr

58. O = 12, MOM = 40 933 FAN = 60 77

~ HAND =?

(A) 61
(B) g1
_\ﬁl
(D) 71

O =12, MOM = 40 #1f1 FAN = 60 =1 &)
941 HAND = ?

(A) 61
(B) 81
() 91
(D) 71



RB/LC/WBP(Prelim)/2023

59, Sva o g-fwg Feq THRAT !
(A) =1
(B) @
\?’2‘?‘;‘“
(D) =l
Firg sl 7 {fiT R ST TR

(A) 3T
(B) 3@
(C) et
(D) g

60. =% il fAefay e ¢
T T T TP :

(A) 43
(B) 53
() 34

35

61. (1 fobifitas Raroras am e

(A) febffm-A

(C) fobifim-K
(D) febifim-C
A e 391 T snfeate @)
(A) firerd-A
(B) firerdH-D
(C) farmia-K
(D) faedA-C

(14)

CHAIR @ 0394] g3

62. (I Aerafen sram HORSE (= 37185

REPORT (% 152716 gy

AP T 2=, 63 oy RESEAI{CH & 3 o
oM 91 379 9

HORSE CHAR

(A) 15869103 T2 T3 c 0314,

(B) 15869104

(©) 15859104 P&Pﬁ% g
15859103 g oo pRC\
lggc | 163

F1 T HORS e 37185,

CHAIR = 0394 affy REPORT & 152716 %
ﬁFa:gﬂ#RESEARCH?némﬂmm?

(A) 15869103
(B) 15869104
(C) 15859104
(D) 15859103

63. FEE TN (I

(0-5)2, V0-49 , 10008 , 0:23
(A) (05
V0008

(C) 0-23
(D) V049

T3 v WA O 1 R
(052, V049 , Y0:008 , 023
(A) (0-5)

8) Y0008

(C) 0-23

(D) V049
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64. T 12 MG (2t Caferm s fgas
ﬂﬁmﬂ,mmmﬁﬂﬁmﬁmqmﬁ
(e I T AR S0 RO ez oy e
ﬂﬂammﬂﬁwqumgﬁm“um
Lﬂ]ﬁﬂmmmmﬂwﬂﬂlw
A Sfed @ fire e

uil
(C) #fisx
(D) Wi

T A =R e v i 40 figey
T AR aﬁmﬁuwlﬂﬁmww:ﬁﬁ
vfes PR gE9ee Al o Fhw: wfiet 80 firer wrg ofip
30 for T 1o o Rl i fees e | stfey
M Fa1 ufE v 87

(A) FW
B) T
(C) ufram
(D) =g

65. fotet @ «jtaz a&wm T 7 50 7% | 99
T 75 forera aue eI T 2 O it
R B 23 110 87| Sivrn 6N T TS
A

(A) 36, 14

(B) 455
40, 10

(D) 35,15

AR B TR SN ATEel 508 1B
IR T T IR AR e S
AFE 110 g9 | FHeE wer A HA 87

(A) 36, 14

(B) 45,5

(C) 40, 10

(D) 35,15

RB/LC/WBP(Prelim)/2023

66. faww AT = a6 oot sraTed M
AMren
A
(B) @fos
(C) wifiEng
(D) Sfgn
faarm T v o 823 v 9 Toam
Fafeem 3?
(A) e
(B) i
(C) ofiea g
(D) shfem

67. BRre 9= swafEet fice 77 I@ oM
AT @, I T 92 TEAEEE gaNig !

G G #fE8 7| T ” G IR ARE &
ETh
a

(B) ¢t

(C) =R

(D) ==

TR TSI AfeIens 2@ret |1 araeaemd
Y4, "'g A ofger uF wE I f T 8w
fedt ™! | S A A a2

(A) Tt
(B) Terlt

(C) v Brit
(D) Bt

68. TSTETH2 MgTa Tope om Gfere o1 o
(TS FAE! (WS A e

(A) =g

(B) 2T
ﬁ’f&
D) g

TR WIeEE T g i)
(A) TumE=T

(B) HMYH
(C) Tyl
(D) ®itaw
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69. 9afd a3 | bl @ 50 o1l frferca s 52 8
H! =WITE | ST we#if® (ratio) 3 : 52, (31
SRR S wiTe ?

(A 12,40
(B) 24,28
(C) 16, 26
(D) 20, 32

= s | Wit T 50 Yar o | s
® Te e 52 9 e fortees TEge A
(ratio) 3 : 5 &1 v fafi= W =faaa faares
w7

(A) 12,40

(B) 24,28

(C) 16, 26

(D) 20, 32

70. 6351 97 FOK (IR FAGT A Ao TAH
qsre @b 2 (perfect square) sreeyt 2za?
(A) 39
(B) 9

(C)
()49

A T HE R T S 8 W 6351 77 4y
T U Yot (perfect square) WIE=3?

(A) 39

(B) 9

(C) 29

(D) 49

(16)

L. 53 wofes #fym e ST A o
. Frmeierg (Appointment letter) '
E#rEe (Income)

BE ik (Examination)

S (Application)

E. <G (Education)

(A) ECDAB

(B) ECDBA

(C) JEABCD
S
T feuw wmeeerd wdtw ada
ﬁ’ﬂ’ﬂﬂi@ﬂ{: .
A. Tf 93 (Appointment letter)
B. et (Income)
C. 9d4n (Examination)
D. &= (Application)
E. fos (Education)
(A) ECDAB
(B) ECDBA
(C) EABCD
(D) EDCAB

!U!"JF'}

72. #fEquA FRSTEM (F AN (A= BAN?
(A)
T s
/(C} e
(D) Farg=Hl
e A FHENIH HEE T WA M7
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73. @R AT SRR T W g,
w3 S G, T 2 I T, <
E W, FYE T e W T o ey,
@ A | A YA

(A) FMl
(B) I
(©)

FTA

T FIS W T AR B D W,
& 7, T AR, AR D o, e P
A SRR Rty

(A) &

(B) &

(C) =

(D) ==l

74. 6466849 97 357 (square root) f7efE = 2
(A) 2643
(B) 2623

(C) 2743
\}Pé‘ﬁ
6466849 T T (square root) Tl T3]

(A) 2643
(B) 2623
(C) 2743
(D) 2543

RB/LC/WBPF(Prelim)/2023

75. W G R 91 303 6 207 F o5 A
Tey ©isie*@ (Remainder) 4RT3 7
) 12
(B) 17
(€ 15
(D) 20

9 T 91 g W @, 9 303 1207 71
ym 721 3 st (Remainder) 97

(A) 12

®B) 17

© 15

(D) 20

76. 1550 511 4L ©itst [ooe 33 5% 932 8%
202 = AAE 3 IF 2 300 OFF AW (interest)
“iheT! (57 | AT iﬁﬁw?

800, 750
(B) 850,700
(C) 1000, 550
(D) 900, 650

Rs. 1550 %% v favifem 7 5% 18% =1re
= s s | 3 94 i Rs. 300 =414 (interest)
W 52 | g% ST Hia 9o (w0e) 37

(A) 800, 750

(B) 850,700

(C) 1000, 550

(D) 900, 650

77, @SR == 6T e
(A)
(BY 7ig=
(@) comerr=t
) e

TR v v TR -
(A) T
(B) ==

(©) T
(D) feh
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78. TEIEIEA SMGTE AUHACS ADA (WD 7S]

ny ¥

() e

(B) FWE

(C) WIZ

(D) %A

TR TEEH HEH] el 18§ 9
e

(A) Te&

(B) wETEEA

(C) “Hemviel

(D) TRufagEs

79. A, B @ C =it e 4 s Grams! 18 A
o =3 | fomfD 7= 90@ 6 fafi v o7, C 7 7% Fa1
=tF A '@ B we w1 (rambifi 24 A0 o % | C 5
g1 (rame® =i zre @ e 7y aa

(A) 30
(B) 24
(C)/32
) 36

A, B 1 C diaa wrETel 18 foem zargh v
T | A UEYEE 6 AR HH T 9@ C U A R,
24 firyem A T B B0 g1 wi &fd frme ¢ &
gt wa?

(A) 30

(B) 24

(C) 32

(D) 36

(18)

80. #i5Ew &TFA, B, C, D 93 E (19 2081 o
fifr@ 2 =@ A OE | E, A € D 99 TRRIT A1,
A. B 99 Tt I0IE | C 97 AT 11 a0y 2

(A) ASB
(B) E€D

(C) ASE
A 5oD

ylaem #ae® A, B, C, D @ E, T
ST 5 T aa 8| E, A 3 D #dam
B1 A, B 9 2ife 999 81 C ) gEUf I H T 87

(A) A #HB

(B) E#fA D

(C) ASME

(D) B &fAD

81. 3 5ura e 2fb Gfee= i To7 2900 B |
475 o e 3 (R @i 3oy 4200 5= 1 116 o
@ 1% Gfrea @it 57 ¥ b e

(A) 300

NG
\ 1300

(D) 1000

3 ¥l 1.2 FeT i ed Rs. 2900 81 14 g
13 saw Fa qed Rs. 4200 €| U3 &A1

T e Jod Ha w82
(A) 300
(B) 1500
(C) 1300
(D) 1000

82. (@AY SR @ e WAEe
(A) fEaes 2om
(B) T@asm

(C) & B
\)t{;;:m
Fereny fad %7 Teuw safem 97

(A) femraet w2m
(B) JUTHEY

(C) T U F¥R
(D) IHUETE



(19)

84. A, B, C,D € E b 9@ 50 A, B @3 (21
<51 % E 92 (AT AR | C, B 97 (0T #7491 | D, B
G (T N5 g A O (AT TR | (3 HAres 2iehl 2

(A) A
(B) ;
Gf D
D) E

A, B, C, D, E ters snefig® 11 A, B =]
o § T E W1 3 81 C, B WR1 STel 31D, B

VR T B A H ST B | T R I 57
(A) A i
B) C ”’!’{;_J’ 3
(©) D %
(D) E

85, frgengfe fereaa #fb @a1 (Face) WTT
(A)
5
(C) 6
(D) 4
ot frou e e (Face) T2
(A) 3

(B) 5
i A

RB/LC/WBP(Prelim)/2023

86. 1°+27+ 3+ .. +10°=3025%07 4 + 32 +
108 + ... + 4000= "1
(A) 12000
(B) 11200
(C) )
12100

17427 + 3%+ ... + 10°=3025 ¥ (then)
44324108 + ... +4000="

(A) 12000

(B} 11200

(C) 12400

(D) 12100

87, =g Af I A e aae e
s A o fre g4 i aif (e arer e
GIUCAA qAg | Sl UG et (o 93
wravg wieaEa e 250e oF S, TR
QIR S % A orat 26 2 it i e
wyrsrat A fira a1 | e wisar o sy 26

(A) TaEs-sifepn

(B) Tag-od

() wfit-od

(D T

B FSAEh gfero ok 317 g1 o AT "

gd Atk a1 T e fE T st e g I
@ 1 ufgen awr ™ =g ufe T WAk g |
e He T weft 4 srfs wedt = S fofa et
sffeet gt & faan ok fegdst?

(A) T ufy=m

(B) W T

(C) =feqor g&

FTwY :rﬁ'zm T
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88. uf Acwmz o178 (HCF) ¢ ®71.8 (LCM)-F
T 24, e wfba R 2 20, A AN
oy s

(A) '
(B¥ 6
(C) 8
(D) 4

Té9e GerE T 9 U (HCF) 3 @ #
THH (LCM) TR 24 B | 6 géaa HEAeTs 2T
2§ WA, oo dEn A w1

(A) 3

(B) 6

(C) 8

(D) 4

(20)

00, 4000TGFR (eI RS oIS A e
209 =TS €3 fERE 10% Fere e Fam

3-5% we T4 | (QIere FHED TC oI ¢

(A) J200
\?/énn
C) 2400
(D) 1500

Rs. 4000 71 Hrerd f ufe, SEremE 209,
e S FEER 10% T 49 918 3-5% Tw
ﬁ|mmﬁmmﬁrﬂﬂﬁﬂr?

(A) 1200

(B) 1800

(C) 2400

(D) 1500

91. sz el oy 717 e fefy e ¢
7 feua Taaeig B o e v e

759
? 4

/

185 g

.

%0 20
43

(A) 370

(B) 276

(C) 4
376
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ﬂ;lwﬂwmmmﬂmm
¥

(A)
\/-«;
C) s

(D) wreg
mﬁﬁgmﬁmww?mm?
(A) =en

(B) veeg

i GRS RS PRI S ———
ELT

(A) 60

(B)
&=

(D) 58

T B e e sty an
(A) 60
(B) 62
(C) 65
(D) 58

94. @Il SHR POLICE *fbes GAKIQN
(7141 2, % S St ARREST *mifrs $reig
e T 4

) VGQPTY
(B) PTYGVQ
(C) YPGPTV
(D) VQGPTY

%A W POLICE W& GAKIQN #fas
Y W¥ WM ARREST Y8 a1 wam 1t

() veQery  pOLICE

(B) PTYGVQ -

© yrerrv A RRZIST
(D) VQGPTY
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95. orpfew frseramwa (Natural Selection
Theory) #94% (&7
(A) [TEs
(B) =y
(C)
(DY BrefR TradEs
=97 fagr® (Natural Selection
Theory) a1 #i fyu?
(A) Huzs
(B) ¥
(©) ==
(D) = =fds

96. (e @ fb e woeR cgwrz orarE o

SR AT T (T ] Tl @il siagm ooy,
A= (i 40fg ey o

(A) efegem (Reflection)

(B) wergdle sifeifemem (Total Internal
Reflection)

(C) (Diffraction)
e (Refraction)
ﬁﬁaﬁﬁmmﬁamﬁm%w
e 20 | A e 9 ) o A

(A) wfafa= (Reflection)
(B) & sr=ftw whafaa (Total Internal

Reflection)
(C) faads (Diffraction)
(D) T9&d7 (Refraction)

L) o | [P s —
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97. stgaet Fef fadfa 399 2
4,9,19,39,49, 9.7,

= ‘lﬂ' T}
109
(B) 149

(C) 179

(D) 199

it T T TS,
4,9,19,39,49,99,7

(A) 109

(B) 149

(C) 179

(D) 199

(22)

(A) A IS !
@) FreT PR
a1 A
(D) TR
Wﬁnﬁﬁm%ﬁwﬁwfm
(A) HTE TS
(B) Fam e
(C) T Fed
(D) wiedt 9%

100. @ B AfEE 6% 2T A 7 (simple

interest) 3 JEA #qade (Principal + Interest
3540 512 20, 77 (interest) F I A

(A) 450 Pk
(B) 580 Tz @
© 3540

540

6% U ST (simple interest) &
3 F991 Rs. 3540 vi4! (Principal + Interest) A H
w4l = (interest) 97

(A) 450

(B) 580

(C) 640

(D) 540



